TN

THE AIRPLANE FACTORY

THE AIRPLANE FACTORY (Pty) Ltd, Registration no 2002/022837/07

Hangar 8 Tedderfield Airpark, Nettleton Road, Eikenhof, 1872, Johannesburg South

PO Box 308, Eikenhof, 1872, South Africa. Tel: +27 (0) 11 948 9898 Fax: +27 (0) 86 632 4493
E-mail: sales@airplanefactory.co.za Web: www.airplanefactory.co.za

Approved Maintenance Organisation AMO1264 Manufacturing Organisation - Mé77

SERVICE BULLETIN #0011 Page 1 of 1
(The Airplane Factory (Pty) Ltd. considers compliance with all Service Bulletins mandatory)

RELEASE DATE: 26 July 2017

EFFECTIVE DATE: 26 July 2017

SUBJECT: Repositioning and cooling of B regulator on
Rotax 912 iS engines

MODELS AFFECTED: All Rotax 912 iS engines

COMPLIANCE TIME: Next 200 hours or 6 (Six) months whichever
comes first

LABOUR TIME: 1.5 hours

MATERIAL COST AND RESPONSIBILITY: The Airplane Factory

DESCRIPTION AND PURPOSE:

The Service Bulletin requires the B regulator of the Rotax 912iS engines to be relocated and fitted with
a heatsink.

In most installations of the fuse box where insufficient airflow is present, there is a possibility that the B
regulator and the associated wires will get too hot and may exceed the manufacturers temperature
specifications.

This could cause the failure of the B regulator and its wiring harness thereby rendering regulator B
inoperative, which will cause the battery voltage to reduce and may cause the panel instruments to
switch off.

Note: Please note that the attached pictures are for information purposes only and may not reflect

your exact installation. If there is any confusion or questions that you may have regarding this
installation, please contact The Airplane Factory technical department

Directors M Blyth, A Pitman, J Pitman


mailto:james@airplanefactory.co.za
http://www.airplanefactory.co.za/

PARTS AND CONSUMABLES LIST:

a)
b)
c)
d)
e)
)

)
h)
i)

Heat transfer paste;

2 x 18mm P clamps;

2 x 6mm i/d x 30mm Aluminum bushes required for attachment to P clamps;
2 x M6 x 50 plated bolts;

2 x M6 nylock nuts;

1 x 100mm x 98mm heat sink;

8 x Cable ties;

12-gauge earth strap;

2 X M6 washers;

TOOLS REQUIRED:

a)
b)
C)

¥+ Rachet;
8mm Socket;
10mm Socket;

INSTRUCTIONS:

For repositioning of the regulator, the following should be done:

1.
2.
3

~No

Remove regulator B from the fuse box using the appropriate tools;

Unplug the Deutsch plug from the regulator;

Fit the regulator and the supplied 12-gauge earth lead to the heatsink with the supplied M6
bolts, aluminium spacers, P clamps, washers and M6 nuts. Refer to the exploded view on
figure 7 drawing for reference.

Fit the assembled heatsink regulator to the engine frame as per the attached drawing marked
figure 7;

Attach the supplied 12-gauge lead to the 6mm mounting stud on the fuse box and ensure that
a zero-resistance connection in made;

Re-attach the Deutsch plug connector;

Ground run the engine and verify that the charging voltage on the battery is correct.

Signed on this the 26™ day of July 2017

ACCOUNTABLE MANAGER
MR MARK FERREIRA



Figure 1

Figure 2




Figure 3

Figure 4




Figure 5

Figure 6




mf. MBI D_- “_. JINE
zifafano 0 o
LON3-¥ m Z e

INTw L 43110234 § O1YIN S34d
SIZLé Y10

000 [ALd) JHO LIV INTT AU IHL
40 AL¥3404d THL I DNINIT 40 BIHL

A13W 58Y 34 0439 ANIS LdH ONY 4 0L IN23d
JHL N3IMWL3F OHNOdWOD 35034 D T 3H L
Q3INddNs IHL 4D SHILIWED HIAT NY A1d4d'Y,

NQILTYLENTT] JIHLIW OS]

3ANL INN O INI2 NI
JHLHDNOL LON 300 43411034
01123 JHL IWHL 3403 304

g NOILYYLSMIT 2ELIWG 8 430074X3

t

NI9NI JHLNG INMIOd 3137 UnE o
Q1 03L23MND D M11234 0D B
dTd1E HI'WI AL IPHL 34N 3NE

IMIDMI KTLOE IHL HlIlii 33174403 A 073877 31 1 50
U4 307 45dN IHL Hii Q31ddNE WON &l 1HTd SIHL
“HAEILD3E HO LTI D3 K0

1 JoyoEuung AZuD - (gL 69 Joyoinbisy SHLFR 2

L dougs wioa Bwpzl = wWunmr 0-8-%-00F-153-33) £

4 Jza0d s NNy WP E 0F O3 -0ER-2  SH] b
Iy dd MO 3NN

FHL ND INFuLld 431412 34 E JE D, LW R S TR &
OIS 34 40 NOILSCd

E NN SR 210 Q=3 -4 -0 207 LAl i

@ 10 LULIDE = R 0-¥-K 087 3 LAl -niH &

a g | duosed 03 = 8 - S0FAT -0 &

L HUISDEH PS UL LRI AT WL G 2 -3 -%-100-£Hd-H3 L

AL Ho L2 530 39NN 1 d ToM WAl

Figure 7



